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® 90° @ 95° @ 100° (@)105° ® 110°

AACD oA Az o] Wizhe] A27]19] 92 180° °| 22 /ADC =
75°
£x = 180° - 75° = 105°
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/x =180°-100°=80°
Ly =180°-50°=130°
/x+ £y =80°+130°=210°
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B > C

AABC 9 211 A & X1 BC ol B33 24 DE &
o9

(B = /DAB (97}, £C = tEAC (9Z})

S LA+ /B+ /C = /BAC + /DAB + /tEAC = 180°




® <A = /EOF
@ /B = /FOG
® /C = /EOD

@AEOD = /FOG = /EOF

® /A + /B+ /C = (EOF + (FOG + (EOD = 180°

~&B
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@ /EOD = /FOG = (EOF ¢1A]=

a9 42 ize] 3719 e 180° 4 SHshe el

(A = /EOF, /B = /FOG , +/C = /EOD,
/A + /B + /C = (EOF + /FOG + /EOD = 180° o] A%
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AABC |4 AB ¢} Bajgt vt2]4 CE & J12W
(@) = ECD( F912)

(BAC = /ACE ( 97})
wtebA] AABC Al HiZH9] oF2>

/ABC + (©) + /BAC = /ECD + /BCA + /ACE = 180°

@ ¢ABC, /BCE @AABC , .BCA
® ¢ACE, /BCE @ (ACE, /BCA

® /BCE, (ECD

B

AABC ©|4] AB <} Ha8st vtA A CE A

£ 9% /ABC = (ECD ( 591%)
/BAC = /ACE ( 91Z)

w2bA, AABC Al hZ+e]
/(ABC + /BCA + /BAC = /ECD + /BCA + /ACE = 180°

310
—

ol




22. o= O™ 2x -2y 8 A71E Tl

/ADE = 20° + 50° = 70°
70° + Ly = /x
oLx— Ly =T0°
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Tx+5°

82 41-107
» = °
> =g 15°

Tx + 5° = (180° — 8x) + (4x — 10°)
11x = 165°
. /x=15°
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52+10°

62 32-10°

@ 15° @20° ® 25° @ 30° ® 35°

B

5x + 10° = (180° — 6x) + (3x — 10°)
5x 4+ 10° = —3x + 170°

8x = 160°

LoLx = 20°
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b=10x =35

Sa+b=10+35=45
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@® 10° @)20° ® 30° @ 40°

® 50°

4x = 2x — 10° + 180° — (5x + 30°)
4x = 140° — 3x
o /x = 20°
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ADBC °f| A
/DBC + /DCB = 180° — 120° = 60°

/B + /C =2(/DBC + /DCB) = 120°
. /BAC = 180° - 120° = 60°
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